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1.
Before biases are considered, the monetary rate of return to investments in education is

A) lower than that of most other investments.

B) higher than that of most other investments.

C) about the same as that of most other investments.

D) higher for women, but lower for men.
Ans: C

2. For education to serve as a signal

A) education must increase productivity.

B) productivity and educational costs must be negatively related.

C) productivity and educational costs must be unrelated.

D) the acquisition of education must not increase wages.
Ans: B

